
Ligninger: ax+b=c små tal Navn:_____________________   Klasse:_____

Materiale ID: MAT.5.4.1.da www.gratisskole.dk

Forkort de følgende ligninger, så du finder værdien af x.

2x + 8 = 26

5x + 8 = 33

3x + 5 = 14

3x + 2 = 23

2x + 4 = 16

4x + 8 = 36

4x + 4 = 40

5x + 3 = 18

4x + 5 = 21

2x + 3 = 11

2x + 2 = 8

4x + 5 = 9

5x + 4 = 39

5x + 2 = 42

2x + 3 = 15

2x + 7 = 25

4x + 3 = 31

3x + 7 = 25



Ligninger: ax+b=c små tal Lærer:____________   Dato:______   Klasse:_____

Materiale ID: MAT.5.4.1.da www.gratisskole.dk

Forkort de følgende ligninger, så du finder værdien af x.

2x + 8 = 26

2x + 8 - 8 = 26 - 8
2x = 18
(2x) : 2 = 18 : 2
x = 9

5x + 8 = 33

5x + 8 - 8 = 33 - 8
5x = 25
(5x) : 5 = 25 : 5
x = 5

3x + 5 = 14

3x + 5 - 5 = 14 - 5
3x = 9
(3x) : 3 = 9 : 3
x = 3

3x + 2 = 23

3x + 2 - 2 = 23 - 2
3x = 21
(3x) : 3 = 21 : 3
x = 7

2x + 4 = 16

2x + 4 - 4 = 16 - 4
2x = 12
(2x) : 2 = 12 : 2
x = 6

4x + 8 = 36

4x + 8 - 8 = 36 - 8
4x = 28
(4x) : 4 = 28 : 4
x = 7

4x + 4 = 40

4x + 4 - 4 = 40 - 4
4x = 36
(4x) : 4 = 36 : 4
x = 9

5x + 3 = 18

5x + 3 - 3 = 18 - 3
5x = 15
(5x) : 5 = 15 : 5
x = 3

4x + 5 = 21

4x + 5 - 5 = 21 - 5
4x = 16
(4x) : 4 = 16 : 4
x = 4

2x + 3 = 11

2x + 3 - 3 = 11 - 3
2x = 8
(2x) : 2 = 8 : 2
x = 4

2x + 2 = 8

2x + 2 - 2 = 8 - 2
2x = 6
(2x) : 2 = 6 : 2
x = 3

4x + 5 = 9

4x + 5 - 5 = 9 - 5
4x = 4
(4x) : 4 = 4 : 4
x = 1

5x + 4 = 39

5x + 4 - 4 = 39 - 4
5x = 35
(5x) : 5 = 35 : 5
x = 7

5x + 2 = 42

5x + 2 - 2 = 42 - 2
5x = 40
(5x) : 5 = 40 : 5
x = 8

2x + 3 = 15

2x + 3 - 3 = 15 - 3
2x = 12
(2x) : 2 = 12 : 2
x = 6

2x + 7 = 25

2x + 7 - 7 = 25 - 7
2x = 18
(2x) : 2 = 18 : 2
x = 9

4x + 3 = 31

4x + 3 - 3 = 31 - 3
4x = 28
(4x) : 4 = 28 : 4
x = 7

3x + 7 = 25

3x + 7 - 7 = 25 - 7
3x = 18
(3x) : 3 = 18 : 3
x = 6


